SuMPO SuMPO EPD

| ‘.oEPQ S4TNBEEES (EPD)

VERIFIED

Z#HES ¢ JR-AJ-24067E

L EREEEIENZSH

MITSUBOSHI METAL INDUSTRY CO.,LTD

SUMPORRIRSAI IO S A
— A FEA Y AT T TR S HE RS
HRHBTAEXAME-14-8

KANDA SQUARE GATE
https://ecoleaf-label jp
"/, DL
E i
(Deformed Bars)

BEH(
1t
BEXRERE
CIER#88F W R
SLEEPE (RMRIERE. EMEEX, RR05E)
PRENGLIEES 2
KEOBN, TELKR-FET

SLEYAb  HTRRHETD
FHMRE IS G3112

ERES JR-AJ-24067E
EAPCRES  PA-180000-AJ-06

PCR#% EEAsKImEE (RREE)
*FA 2025%3H13H
REALETEE 202543850

REEAR B RBIREEA X
RIEHES JV-AJ-24067
IRALEZNHEAR 203043848
PCRLE1-DENE

FEHZ 20234 58 10H
ZE8R WE HFt

(SD295, SD345, SD390, SD490) FaEA

AT LA ER E=ERITE

~Hi& : D10~D41 NEpIREEE AE B
ISO140258 & TMISO21930(C /> T=AEE RUIT-IDIhII LT
st

ORER WALEB
*AT LRI EZ (T B EARANDRIEDH AL, VAT LR 2T EEEED
ZRI%EHE.
fWabhts
—ESRERITHEMKASL TEL : 0256-61-1000

https://www.mitsuboshi-scon.co jp

Z5H&ES ¢ JR-AJ-24067E



EPD

1aPAN

VERIFIED

SuMPO EPD
1T NRBEES

(EPD)

Z#HES ¢ JR-AJ-24067E

SUMPOBRIEINILTOI S A
— B FEAY AT IR HEE S
HRBTREXAHHE-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

OF1791 7V EFFEmER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 600| kg-CO:eq
[7ge(d 0.63 | kg-SO2eq
HALFEAFIT I 0.014 | kg-C2Haeq
m [AL]EM R ERE m [A2]%0% m[A3]EE

=H IEH|  Bff A5t mEmsmz| [A2l#@X | [A3]£E (DIES-UH 1)

SURZE) kg-CO.eq | 6.0E+02 1.4E+02 1.4E+01 4.5E+02 1.3E+02

AV EHIE kg-CFC-11eq| 1.9E-04 1.0E-05 1.8E-10 1.8E-04 2.4E-08

7324 kg-SO.eq | 6.3E-01 1.1E-01 3.6E-02 4.9E-01 2.0E-01

HALFZAF I Vb kg-CoHseq | 1.4E-02 5.3E-03 8.3E-05 8.6E-03 2.8E-02

EREL kg-PO.*eq | 2.9E-04 3.4E-05 1.5E-10 2.6E-04 2.4E-03
9 =4 9 % h FE o 7 i

IR Hif mh-9E (ERHS) Bify
FEERREER -2.6E+00 kg 8% [Fel =97.23 %
FEFERIRIF- 2.1E+02 kg &% [C] =032 %
FEFERBEIRILF- 8.5E+03 M) T4% [Si] = 0.55 %
BAARRER 2.2E+02 kg NYAY  [Mn] =18 %
BAERTREIRIF- 2.4E+03 MJ Uy [P = 0.05 %
WIKDEE 4.0E-01 m? WE [S] = 0.05 %
HEH, CO2(L R EIRER), AR, T8E | 5.8E+02 kg
iR, BUh, 44.7M/kg, B, FEBEARTIRF- | 2.4E+01 kg
P, ERUERAY, KR REE | 1.5E-07 kg
e 7% T EAPER =TS
IR Hify
BEREY 2.2E+01 kg
EEEEY 0.0E+00 kg

KTV 2BEEMBERLTNET,



SUMPOBRIESANITOI I s

SEuMI':’;DD SuMPO EPD 3 —BALEEAY AT TR B
1 |EPRPD F4TNBEEE (EPD) RO (O AT -14-8
VERIFIED KANDA SQUARE GATE
BEES ¢ JR-AJ-24067E https://ecoleaf-label jp

GOEEHEICEAT2EMIER

OREFZELLT, IS Q 20915(CE KA R OU Y1) shREFEL. EEOXID]ICZ0EEREHLE,
USRI, MREEYIMMORIIYTRARCHI BRI ERFH KRR Iy T EYRICHE I BREROZE S THELE,
STECEALEVYMIIVERIZ.T%ISQOT5(CHEL, 2022 EEDEANT-Y (K : BASKINER. AF-VEUH1I)IBR)&ERLE,
BHREAME [E5, BAF, 20185 E |2 FERALE.

@—RT-IDES(32023F4 8 ~2024E38 TH3,

@EERMTRETDIATI . AT-WIAEBICARFEL TS,

©-1.ZDMDIRIFEIEIER
ISO1400138E T35

©-2.5EMHEICRAT 315K
IEH CAS No. P
5%V 7439-96-5 FELEFEE
£ 7440-50-8 FEEEFEE
70L4 7440-47-3 FEEEFEE
~Fb 7440-02-0 FEEEFEE

OFERALEZRT-9DEXSH

IDEA ver3.1.0&{EALT~,

®fF%E

(B BB5URL ! https://ecoleaf-label jp/regulation/)

E#H&ES ¢ JR-AJ-24067E



